Multiplication par 0,1 (D)

Trouvez chaque produit.

96 X 0,1 = 31 x0,1=
20x0,1= 75%x0,1 =
79 x0,1 = 55%x0,1=
91 x0,1= 26 X 0,1 =
80 x0,1= 78 X0,1=
34 x0,1= 90 x 0,1 =
92 x0,1= 13x0,1=
11x0,1= 7x%x0,1=
61x0,1= 34x0,1=
45x%x 0,1 = 31 x0,1=
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Multiplication par 0,1 (D) Solutions

96 X 0,1 =9,6

20x0,1=2

79%x01=79

91x0,1=9,1

80x0,1=8

34 x0,1=3,4

92x%x0,1=9,2

11x01=1,1

61x0,1=6,1

45x 0,1 =45

Trouvez chaque produit.

31x0,1=3,1

75x0,1=17,5

55x0,1=5,5

26 x0,1=2,6

78%x0,1=7,8

90x0,1=9

13x0,1=1,3

7x0,1=0,7

34x0,1=3,4

31x0,1=3,1
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